SECURITIES AND EXCHANGE COMMISSION WASHINGTON, D.C. 20549

SCHEDULE 13D

(Rule 13d-101)

INFORMATION TO BE INCLUDED IN STATEMENTS FILED PURSUANT TO RULE 13d-1(a) AND AMENDMENTS THERETO FILED PURSUANT TO RULE 13d-2(a) (Amendment No. 7)

CENTRAL GARDEN & PET COMPANY

(Name of Issuer)

Common Stock, \$.01 Par Value (Title of Class of Securities)

153527 10 6 (CUSIP Number)

William E. Brown
Central Garden & Pet Company
1340 Treat Boulevard, Suite 600
Walnut Creek, California 94597
(925) 948-4000
(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

Copy to:

John F. Seegal, Esq.
Orrick, Herrington & Sutcliffe LLP
405 Howard Street
San Francisco, CA 94105
(415) 773-5700

November 29, 2007 (Date of Event Which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition which is the subject of this Schedule 13D, and is filing this schedule because of Rule 13d-1(b)(3) or (4), check the following box:

CUSIP No. 153527-10-	b 13D	Page 2 of 3
1 NAME OF REPORT	TING PERSONS VTIFICATION NOS. OF ABOVE PERSONS (ENTITIES ONLY)	
	E. Brown	
2 CHECK THE APPF (a) □	OPRIATE BOX IF A MEMBER OF A GROUP	
(a) □ (b) □		
3 SEC USE ONLY		
4 SOURCE OF FUNI	OS .	
SC		
5 CHECK BOX IF DI	SCLOSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO ITEM 2(d) or 2(e)	
	PLACE OF ORGANIZATION	
USA		
	7 SOLE VOTING POWER	
NUMBER OF	2,699,442	
SHARES	8 SHARED VOTING POWER	
BENEFICIALLY	0	
OWNED BY EACH	9 SOLE DISPOSITIVE POWER	
REPORTING		
PERSON WITH	2,699,442	
WIIII	10 SHARED DISPOSITIVE POWER	
	0	
11 AGGREGATE AM	OUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON	
2,699,44	2	
12 CHECK BOX IF TH	HE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES	
13 PERCENT OF CLA	SS REPRESENTED BY AMOUNT IN ROW (11)	
11.3%		
14 TYPE OF REPORT	ING PERSON	
IN		

Based on the Company's Form 10-K for the fiscal year ended September 29, 2997 as filed on November 28, 2007, there were outstanding (as of November 12, 2007) 22,305,985 shares of common stock and 1,652,262 shares of Class B common stock, which are convertible on a one-for-one basis into common stock.

Item 1. Security and Issuer

The class of equity securities to which this Statement on Schedule 13D relates is the Common Stock, \$.01 par value ("Central Common Stock"), of Central Garden & Pet Company. (the "Issuer"), a Delaware corporation. The Central Common Stock is listed on the NASDAQ Global Select Market under the symbol "CENT". The Issuer's principal executive offices are located at 1340 Treat Boulevard, Suite 600, Walnut Creek, California 94597.

Item 2. Identity and Background

This Schedule 13D is being filed on behalf of William E. Brown. Mr. Brown is a citizen of the United States and his principal business address is c/o Central Garden & Pet Company, 1340 Treat Boulevard, Suite 600, Walnut Creek, California 94597. Mr. Brown's principal occupation is Chief Executive Officer of the Issuer. Mr. Brown is also the Chairman of the Board of Directors of the Issuer.

During the last five years, Mr. Brown has not (i) been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors) or (ii) been a party to a civil proceeding of a judicial or administrative body of competent jurisdiction and as a result of which was or is subject to a judgment, decree or final order enjoining future violations of, or prohibiting or mandating activities subject to, Federal or State securities laws or finding any violation with respect to such laws.

Item 3. Source and Amount of Funds or Other Consideration.

Mr. Brown used \$5,042,074 of his personal funds to acquire 1,000,000 shares of Central Common Stock in open market transactions on the NASDAQ Stock Market between November 29, 2007 and December 3, 2007. In addition, Mr. Brown's spouse, Sharon Brown, used \$69,071 of her personal funds to acquire 15,000 shares of Central Common Stock in open market transactions on the NASDAQ Stock Market on November 29, 2007.

Item 4. Purpose of Transaction.

- Mr. Brown believes the Issuer's shares are undervalued and wishes to increase his investment in the Issuer.
- Mr. Brown has no plans or proposals which relate to or would result in:
- (a) The acquisition by any person of additional securities of the Issuer, except as contemplated by the first paragraph of this Item 4, or the disposition of securities of the Issuer:
 - (b) An extraordinary corporate transaction, such as a merger, reorganization or liquidation, involving the Issuer or any of its subsidiaries;
 - (c) A sale or transfer of a material amount of assets of the Issuer or of any of its subsidiaries;
- (d) Any change in the present board of directors or management of the Issuer, including any plans or proposals to change the number or term of directors or to fill any existing vacancies on the board;
 - (e) Any material change in the present capitalization or dividend policy of the Issuer;
 - (f) Any other material change in the Issuer's business or corporate structure;
- (g) Changes in the Issuer's charter, bylaws or instruments corresponding thereto or other actions which may impede the acquisition of control of the Issuer by any person;
- (h) Causing a class of securities of the Issuer to be delisted from a national securities exchange or to cease to be authorized to be quoted in an inter-dealer quotation system of a registered national securities association;
 - (i) A class of equity securities of the Issuer becoming eligible for termination of registration pursuant to Section 12(g)(4) of the Act; or
 - (j) Any action similar to any of those enumerated above.

Page 3 of 5 Pages

Item 5. Interest in Securities of the Issuer.

- (a) As a result of the transactions reported in Item 3, Mr. Brown now beneficially owns 2,699,442 shares of Central Common Stock, representing 11.3% of the total outstanding Central Common Stock (including shares issuable upon any conversion of Central's Class B common stock ("Central Class B Stock") owned by Mr. Brown). These 2,699,442 shares of Central Common Stock are owned as follows:
 - (i) Mr. Brown individually owns 1,075,983 shares of Central Common Stock.
 - (ii) Mr. Brown has the right to acquire zero shares of Central Common Stock issuable upon the exercise of outstanding stock options, which are exercisable within 60 days of December 3, 2007.
 - (iii) Mr. Brown individually owns 1,600,459 shares of Central's Class B common stock, representing 96.9% of the total outstanding Central Class B Stock. At the option of the holder, each share of Central Class B Stock is convertible at any time and from time to time into one share of Central Common Stock.
 - (iv) Mr. Brown's spouse individually owns 23,000 shares of Central Common Stock.

In addition, Mr. Brown owns 3,338,884 shares of Central's Class A Common Stock ("Central Class A Stock"). The Central Class A Stock is non-voting and is not convertible into Central Common Stock.

Mr. Brown disclaims beneficial ownership of the shares of Central Common Stock owned by his spouse, Sharon Brown.

- (b) Mr. Brown has sole power to vote and direct the disposition of 1,098,983 shares of Central Common Stock and 1,600,459 shares of Central Class B Stock. Each share of the Company's Common Stock is entitled to one vote, and each share of Central Class B Stock has the lesser of ten votes or 49% of the votes cast. As a result, Mr. Brown has sole power to control 44.2% of the voting power of Central's capital stock. In addition, Mr. Brown has sole power to direct the disposition of 3,338,884 shares of Central Class A Stock. The Central Class A Stock is not entitled to vote, except as required by Delaware law. Mr. Brown does not have shared power to vote or direct the disposition of any Central shares.
 - (c) Mr. Brown has not engaged in any transaction in Central Common Stock or Central Class B Stock during the last 60 days, except as follows:

			Avera	age Purchase
Date	Transaction	Number of Shares	Price	e Per Share
November 29, 2007	Purchases	390,123	\$	4.6848
November 29, 2007	Purchases by Spouse	15,000	\$	4.6047
November 30, 2007	Purchases	420,450	\$	5.1768
December 3, 2007	Purchases	189,427	\$	5.4793

Details of individual trades are included in Exhibit 1 to this Amendment No. 7 to Schedule 13D.

(d) No other person is known to have the right to receive or the power to direct the receipt of dividends from, or the proceeds from the sale of, the securities discussed above.

Item 6. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer.

In applicable.

Item 7. Material to be filed as Exhibits.

The following Exhibits are filed as part of this Schedule 13D Statement:

Exhibit 1 Details of purchase transactions of Central Common Stock by filing person between November 29, 2007 and December 3, 2007.

Page 4 of 5 Pages

SIGNATURES

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this statement is true, complete and correct.

Dated: December 5, 2007.

/s/ William E. Brown William E. Brown

Page 5 of 5 Pages

TRADE DETAIL

TC	DTALS	390,123 \$1	,827,563.84
1	Price	Shares	Gross
\$	4.32	600 \$	2,592.00
\$	4.33	200	865.00
\$	4.33	3,300	14,289.00
\$	4.34	100 \$	433.50
\$	4.34	4,200 \$	18,228.00
\$	4.35	3,800 \$	16,530.00
\$	4.36	300 \$	1,306.50
\$	4.36	1,200 \$	5,232.00
\$	4.37	1,800 \$	7,866.00
\$	4.38	1,600 \$	7,008.00
\$	4.39	1,200 \$	5,268.00
\$	4.40	200 \$	880.00
\$	4.41	200 \$	882.00
\$	4.43	900 \$	3,987.00
\$	4.45	210 \$	934.50
\$	4.46	2,300 \$	10,258.00
\$	4.47	800 \$	3,576.00
\$	4.48	1,900 \$	8,512.00
\$	4.49	5,200 \$	23,348.00
\$	4.50		251,685.00
\$	4.51	3,800 \$	17,138.00
\$	4.52	100 \$	452.00
\$	4.53	200 \$	906.00
\$	4.54	3,126 \$	14,192.04
\$	4.55	3,075 \$	13,991.25
\$	4.56	7,751 \$	35,344.56
\$	4.57	12,900 \$	58,953.00
\$	4.58	2,200 \$	10,076.00
\$	4.59	4,600	21,114.00
\$	4.60	21,600 \$	99,360.00
\$	4.62	149 \$	688.38
\$	4.63	3,905	18,080.15
\$	4.64	4,900 \$	22,736.00
\$	4.65	10,827	50,345.55
\$	4.66	10,449	48,692.34
\$	4.67	7.978	37,257.26
\$	4.68	5,143	24,069.24
\$	4.69	7,395	34,682.55
\$	4.70		164,951.20
\$	4.71	2,300 \$	10,833.00
\$	4.72	7,500 \$	35,400.00
\$	4.73	500 \$	2,365.00
\$	4.74	11,337 \$	53,737.38
\$	4.75	15,405 \$	73,173.75
		• • • • • • • • • • • • • • • • • • • •	-,,,-

Average Price:	\$ 4.6848
Shares Bought	390.123

\$ 4.76	7,951	\$ 37,846.76
\$ 4.77	1,850	\$ 8,824.50
\$ 4.78	2,600	\$ 12,428.00
\$ 4.79	4,478	\$ 21,449.62
\$ 4.80	15,478	\$ 74,294.40
\$ 4.81	1,380	\$ 6,637.80
\$ 4.85	6,950	\$ 33,707.50
\$ 4.86	300	\$ 1,458.00
\$ 4.87	2,200	\$ 10,714.00
\$ 4.88	7,100	\$ 34,648.00
\$ 4.89	1,100	\$ 5,379.00
\$ 4.90	7,990	\$ 39,151.00
\$ 4.91	19,400	\$ 95,254.00
\$ 4.92	6,250	\$ 30,750.00
\$ 4.93	500	\$ 2,465.00
\$ 4.94	12,000	\$ 59,280.00
\$ 4.95	15,500	\$ 76,725.00
\$ 4.96	1,700	\$ 8,432.00
\$ 4.97	100	\$ 497.00
\$ 4.98	2,700	\$ 13,446.00
\$ 4.99	4,420	\$ 22,055.80

Sharon Brown CENT Purchases on 11/29/2007

TRADE DETAIL

TO	OTALS	15,000	\$69,071.00
	Price	Shares	Gross
\$	4.51	2,000	\$ 9,020.00
\$	4.52	200	\$ 904.00
\$	4.53	800	\$ 3,624.00
\$	4.55	300	\$ 1,365.00
\$	4.56	900	\$ 4,104.00
\$	4.58	300	\$ 1,374.00
\$	4.59	1,100	\$ 5,049.00
\$	4.60	1,400	\$ 6,440.00
\$	4.61	300	\$ 1,383.00
\$	4.62	1,700	\$ 7,854.00
\$	4.64	2,300	\$10,672.00
\$	4.65	1,100	\$ 5,115.00
\$	4.66	100	\$ 466.00
\$	4.67	1,000	\$ 4,670.00
\$	4.68	1,400	\$ 6,552.00
\$	4.79	100	\$ 479.00

Average Price:	\$4.60473
Shares Bought	69,071

William E. Brown CENT Purchases on 11/30/2007

TRADE DETAIL

TO	DTALS	420,450	\$2	2,176,582.56
	Price	Shares		Gross
\$	4.99	1,200	\$	5,988.00
\$	5.00	8,500	\$	42,500.00
\$	5.01	200	\$	1,002.00
\$	5.02	2,200	\$	11,044.00
\$	5.03	4,000	\$	20,120.00
\$	5.04	5,333	\$	26,878.32
\$	5.05	14,900	\$	75,245.00
\$	5.06	12,200	\$	61,732.00
\$	5.07	14,110	\$	71,537.70
\$	5.08	15,226	\$	77,348.08
\$	5.09	19,213	\$	97,794.17
\$	5.10	45,169	\$	230,361.90
\$	5.11	6,700	\$	34,237.00
\$	5.12	6,111	\$	31,288.32
\$	5.13	6,200	\$	31,806.00
\$	5.14	3,200	\$	16,448.00
\$	5.15	7,128	\$	36,709.20
\$	5.16	7,000	\$	36,120.00
\$	5.17	7,200	\$	37,224.00
\$	5.18	5,589	\$	28,951.02
\$	5.19	21,800	\$	113,142.00
\$	5.20	8,400	\$	43,680.00
\$	5.21	8,534	\$	44,462.14
\$	5.22	33,533	\$	175,042.26
\$	5.23	8,700	\$	45,501.00
\$	5.24	10,189	\$	53,390.36
\$	5.25	37,100	\$	194,775.00
\$	5.26	52,650	\$	276,939.00
\$	5.27	7,176	\$	37,817.52
\$	5.28	4,082	\$	21,552.96
\$	5.29	9,806	\$	51,873.74
\$	5.30	6,900	\$	36,570.00
\$	5.31	2,200	\$	11,682.00
\$	5.32	15,200	\$	80,864.00
\$	5.34	2,801	\$	14,957.34

Average Price:	\$ 5.1768
Shares Bought	420,450

TRADE DETAIL

TO	DTALS	189,427	\$ 1	1,037,927.36
1	Price	Shares		Gross
\$	5.22	500	\$	2,610.00
\$	5.23	1,400	\$	7,322.00
\$	5.24	500	\$	2,620.00
\$	5.25	1,800	\$	9,450.00
\$	5.26	2,100	\$	11,046.00
\$	5.27	600	\$	3,162.00
\$	5.28	1,000	\$	5,280.00
\$	5.29	700	\$	3,703.00
\$	5.30	2,335	\$	12,375.50
\$	5.31	2,965	\$	15,744.15
\$	5.32	1,500	\$	7,980.00
\$	5.33	1,100	\$	5,863.00
\$	5.34	7,400	\$	39,516.00
\$	5.35	2,900	\$	15,515.00
\$	5.36	1,600	\$	8,576.00
\$	5.37	1,400	\$	7,518.00
\$	5.38	1,300	\$	6,994.00
\$	5.39	900	\$	4,851.00
\$	5.40	2,000	\$	10,800.00
\$	5.41	6,500	\$	35,165.00
\$	5.42	6,300	\$	34,146.00
\$	5.43	4,800	\$	26,064.00
\$	5.44	5,700	\$	31,008.00
\$	5.45	6,400	\$	34,880.00
\$	5.46	4,500	\$	24,570.00
\$	5.47	15,631	\$	85,501.57
\$	5.48	3,900	\$	21,372.00
\$	5.49	8,300	\$	45,567.00
\$	5.50	22,718	\$	124,949.00
\$	5.51	12,500	\$	68,875.00
\$	5.52	5,962	\$	32,910.24
\$	5.53	2,487	\$	13,753.11
\$	5.56	1,902	\$	10,575.12
\$	5.57	5,000	\$	27,850.00
\$	5.58	1,700	\$	9,486.00
\$	5.59	7,800	\$	43,602.00
\$	5.60	23,027	\$	128,951.20
\$	5.61	10,300	\$	57,783.00

Average Price:	\$ 5.4/93
Shares Bought	189,427